
"��U� 3

��������
�

3.1 ������
��U� 1  ���ZX�M��$��"�����
�P���i �
U������
������������	
�����
���� ����
�
�&oL�i �
��
P�U�P���k����$�S�$
����Y
� �������	
�

3.1.1 �$��" pH ����$�S�$
����Y
� �������	
�
 �	���7C�3�<��
���2=�� 	�����	
���	������6��$���I ��?�&�I��

&	�6��� �
2��#	$�$�$��	����� � ������#6����������?� 8

������?� 8  <��
���2�����"6���=�� 	�����	
���?�&����"�����$�5��I���$���I ��?�     
&�I��&	�6��� �
2�� #	$�$�$��	����� �

 �
2���$���I ��?�&�I��&	�6�
(2
		
	
��)
����A%� 20 	
��

�$�$��	�
(���?)

<��
���2

0 (�5���"�52)

200

10
20
30
10

�����A%� ��
 &2�2?�������"6���
�����A%� ��
 &2�2?�������"6���
�����A%� ��
 &2�2?�������"6���
�����A%� ��
 &2�2?�������"6���

20 �����A%� ��
 &2�2?�������"6���
30 �����A%� ��
 &2�2?�������"6���

400 10 �5"�A%�� B��$�$ � 2?�������"6���
20 �5"�A%�� B��$�$ � 2?�������"6���
30 �5"�A%�� B��$�$ � 2?�������"6���

600 10 2?�����=������7   	�����
20 	����� 6?	%������
�2J?�
30 6?	%����J?�2��=CA� #	$��:���&��
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<"��� �
2�����2�=�2=��=���������$���I ��?�&�I��&	�6��?���2�$62�?�65�
�
��?��$��" 400 2
		
	
�� ����A%� 20 	
�� ��
� �$���I ��?�&�I��&	�6� 2 2
		
	
�� ����A%� 100 
2
		
	
��

 �	���7C�3��$��" pH ����$�<�$����� 	�����	
��=����A%����� 250x
300 ���2 �	���������$���I ��?�&�I��&	�6�=�����
����� 	��9��� � B�6����$�5����� 	�2?
���2�����
�#	$�	����A%������?��$�$��	�������� <"��� �$��" pH ����$�<�$������5��5����
��	��&2�2?���2#������������6�
�
 (P>0.05) ���#6����������?� 9 I��2?�$��" pH �@	?��������" 
3.06+0.75   

������?� 9   �$��" pH ����$�<�$����� 	�����	
���	����$�5�������$���I ��?�&�I��&	    
�6��?��$�$ ��	����� �1

�$�$��	�
(���?)

�A%����� 	�
(���2/���)

�$��" pH ����$�<�$�����2

0 256.18+18.08 3.16 +0.98
10 274.12+19.18 2.80 +0.50
20 282.05+19.77 3.12 +1.08
30 265.10+35.34 3.19 +0.45

�@	?�� 3.06 +0.75
1����	=�?��%��6��� B�����@	?��±����"?����"�2���4�� (N = 5 �������5������	���?� 3 #	$ 4 N = 4)
 2����@	?����6�2�� &2�2?���2#���������6�
�
�?��$��"���2��
��2��� 95 � ����JK���  (P>0.05)

3.1.2  ��L���
�&oL�i �
��
Pk����$�S�$
���� �������	
�
 	�����	
��JA%��?� 1 :%���� 5 ��� 2?�A%������@	?��������" 311.37+40.38 ���2 &���A%�

������$�<�$�������2������" 12.21 ���2  #	$6������&J2�I ��
��6&�� ������" 35 2
		
	
��
6%����" 	�����	
��JA%��?� 2 :%���� 5 ��� 2?�A%������@	?��������" 290.66+26.82 

���2 &���A%�������$�<�$�������2������" 10.92 ���2 #	$&�� �
2�����&J2�I ��
��6 ������" 30 
2
		
	
��
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3.1.3 ��k���LY
��
�&oL�i �
��
P
�����������&J2�6���:����$�<�$����� 	�����	
�� JA%��?� 1 2? �
2��I ��?�

������" 7.31+0.06 2
		
���2���2
		
	
�� I��2?����
:���2���&J2�I ��
��6������" 193.77          �9
�
����2
		
	
�� #	$2?����
:���2:%��<�$=�����&J2�� "J
�������" 26.50 �9�
����2
		
���2

6%����"�����������&J2�6���:����$�<�$����� 	�����	
��JA%��?� 2 2? �
2��
I ��?�������" 11.29+0.02 2
		
���2���2
		
	
�� 2?����
:���2���&J2�I ��
��6������" 188.67    �9
�
����2
		
	
�� #	$2?����
:���2:%��<�$=�����&J2�� "J
�������" 16.71  �9�
����2
		
���2 ��2
	%���" I������
:���2���&J2�I ��
��6 #	$����
:���2:%��<�$=�����&J2�� "J
� :%���� 2 JA%� 
���#6����������?� 10

  ������?� 10  ����
:���2���&J2�I ��
��6 #	$����
:���2:%��<�$=�����&J2�6��� :%���� 2 JA%�

JA%��?�  �
2��I ��?�
(2
		
���2���
2
		
	
��)

����
:���2=�����&J2�
I ��
��6

(�9�
����2
		
	
��)

����
:���2:%��<�$=��
���&J2�
� "J
�

(�9�
����2
		
���2)
1 7.31+0.06 193.77 26.50
2         11.29+0.02 188.67 16.71

3.1.4 
��� �$�
"�����LUY
���
�O��"
�	����
����$������ �$��"�����2?=��   	� '�   �2	K�������	
���?����������2�?�

�5���92
 100 ��7��J	�J?�6 � B���	� 30 ���?    ���������	
��6����A%�2�� #	$�2	K�������	
���
" ���
#6����������?� 11 (�
����$��I ��?�, &=2��, ���� #	$���2�
A� �?�����
�����
�7�6��� 
2���
���	��6�=	����
���� #	$�
����$����
���� �?�79��� !
"��
����
����$���	�� ��$
���<����8��2���
 2���
���	��6�=	����
����)
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������?� 11  ���� �$��"�����2?=������5�
"�?��%�2���6�"�$��"�������I ��?����	�� 
��	��  ( % as  fed  basis)

����5�
" ���� �$��"�����2?1

I ��?� &=2�� NFE ���� ��
���� ���2�
A�
 	� '� 65.49+0.07 12.67+0.1

8
- 13.72+0.1

3
- 7.33+0.09

������	
����22 44.56+0.24 16.20+0.1
9

  22.68+0.81
4.81+0.02

4.16+0.35 7.67+0.27

���������	
��3 39.62+0.05
2.68+0.09

  35.02+0.11
7.59+0.10

6.09+0.20 9.00+0.10

������	
���
" 42.27+0.16 19.69+0.3
0

  22.63+0.69
5.56+0.09

3.82+0.10 4.06+0.11

1����	=�?��%��6��� B�����@	?��+����"?����"�2���4�� (N = 3)
2�2	K�������	
����2�?��5���92
 100 ��7��J	�J?�6� B���	� 30 ���? #	$�"#���
3���������	
��6����A%�2��

3.1.5  �����
�P���i �
U�����
�O��"i������
�&oL�P���
1) i �
U��U��$����V%�
:�����"�2������������5�
"��
����� � ��""�{�{���I��&2�2?�����
2���&J2�� B�

��	� 12 �����I2� #	���%���������& �
����$�� �
2��I ��?��?���	
� :����A��%�& �%����� ����JK���
I ��?��?���	
� (������?� 12) � �?�"��?�"��" �
2��I ��?���������������"�2 �<
����� ����JK���
=��I ��?��?�	$	��&�� <"��� ������	
���
"2?� ����JK���I ��?��?�	$	��&��69��?�65����	�2�&��#��  
 	� '�  �2	K�������	
���?����������2�?��5���92
 100 ��7��J	�J?�6� B���	� 30 ���? #	$�������
��	
��6����A%�2�� I��2?����@	?��������" 19.18+0.86, 17.85+0.60, 8.34+0.65 #	$ 7.07+0.52 
� ����JK�����2	%���" (��<�?� 7)

2) �$��"�����
�P���i �
U�����
�O��"
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 �
2��I ��?��?���	
� #	$� ����JK���I ��?��?���	
�=�� 	� '�  �2	K�������	
��
�?����������2�?��5���92
 100 ��7��J	�J?�6� B���	� 30 ���?  ���������	
��6����A%�2�� #	$����

��	
���
" �	�����"�2��"���&J2�6���:����$�<�$����� 	�����	
��:%���� 2 JA%� #	$�2
���%�
I ��?��?���	
�=��#��	$��������� �?�"��?�"��"�5������	���?�&2��6����&J2�6����<
��������$��"
�������6	��I ��?� (������?� 12) <"���  	� '�2?����$��"�������I ��?��@	?��69��?�65� ���	�2�
&��#�� �2	K�������	
���?����������2�?��5���92
 100 ��7��J	�J?�6� B���	� 30 ���?   ���      ����
��	
��6����A%�2�� #	$������	
���
" (P<0.05) I��2?�$��"�������6	��I ��?��@	?��������"
10.21+0.42, 9.08+0.79, 7.76+0.77 #	$ 5.63±0.82 � ����JK�����2	%���"

:�����7C�3��$��"�������I ��?�������5�
"��
����� � I�����������&J2�     
I ��
��6�?�6���:����$�<�$����� 	�����	
��� B����&J2���6�" :C�6�5 &������$��"�������
I ��?��� 	� '�2?���69��?�65� ���	�2�&��#�� �2	K�������	
���?����������2�?��5���92
 100 ��7�
�J	�J?�6� B���	� 30 ���?   ���������	
��6����A%�2��  #	$������	
���
" � B��5������	���?�2?�$��"
�������I ��?���%��?�65� �����A��2	K�������	
���?����������2�?��5���92
 100 ��7��J	�J?�6� B���	� 30 
���? #	$ ���������	
��6����A%�2�� � B��	
������������	
���?�2?�$��"�������I ��?�� B������" 1 
#	$ 2 ��2	%���" :C��%�2�����������#��I ��?�:�� 	� '���69��������������	���?� 2  ���
& 
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    ������?� 12   �
2��I ��?��?���	
�  � ����JK���I ��?��?���	
�  #	$�$��"�������6	��I ��?�������5�
"�	���������6	��I ��?�I�����&J2�1

       1����	=�?��%��6��� B�����@	?�� + ����"?����"�2���4�� (N = 2)
      ����@	?����6�2���?�2?������3���2
������%���" &2�2?���2#���������6�
�
�?��$��"���2��
��2��� 95 � ����JK��� (P>0.05)  )
       2 �$��"I ��?�=������5�
" (% as  fed  basis) :  	� '� 65.49; ������	
����2�?��5���92
 100 ��7��J	�J?�6 � B���	� 30 ���? 44.56; ���������	
��6����A%�

2�� 39.62;                ������	
���
"  42.27 ��2	%���"
               3 ������	
����2�?��5���92
 100 ��7��J	�J?�6 � B���	� 30 ���?

����5�
"2  �
2��I ��?��?���	
�
(� ����JK���)

� ����JK���I ��?��?���	
� �$��"�������6	��
(� ����JK���)

&2��6����&J2� �	��"�2�������&J2� &2��6����&J2� � 	� � "� 2 �� � �
���&J2�

 	� '� 53.76+0.39 47.12+0.27 82.14+0.60 71.99+0.42a 10.21+0.42a

������	
����23 40.84+0.28 36.79+0.34 91.65+0.65 82.57+0.79b  9.08+0.79b

���������	
��6����A%�2�� 36.89+0.23 33.73+0.30 92.92+0.52 85.16+0.77c  7.76+0.77c

������	
���
" 33.96+0.36 31.49+0.34 80.82+0.86 74.94+0.82d  5.63+0.82d
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19.18
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56,57/ !�8�(96:); <= >,>!�8�(96:);->�#/?@,=�/ !�8�(96:);#$%

A5
* 
B/C

B86D
6,

E/
?@, (
%
)

56,57/

!�8�(96:); <=

>,>!�8�(96:);->�#/?@,=�/

!�8�(96:);#$%

��<�?� 7 � ����JK���I ��?��?�	$	���A%�������5�
"#��	$��
�
 ����	=�?��%��6��� B�����@	?��+����"?����"�2���4�� (N = 2)

3.2 ������
��U� 2  ���ZX�M�����%����
������������	
�� W�#����i �
U���#�� �� '��U��$��"
���� ��

���� �������	
�

3.2.1 
��� �$�
"�����LUY
�
�������
�
�������	���?���������7C�3�2?���� �$��"�����2? (������?� 13) I��2?�$��"

I ��?�����	$ 36.73+0.46 �C� 39.64+0.21  &=2������	$ 11.62+0.20 �C� 16.00+0.79  ��������	$ 

�� !"#$%

5353
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8.70+0.01 �C� 10.97+0.12  ���2�
A�����	$ 3.78+0.12 �C� 5.96+0.03  #	$��
��������	$ 5.38+0.11 
�C� 7.18+0.21 =���A%����������� ���

   ������?� 13 ���� �$��"�����2?=���������	�� (% as fed basis)1

69������� I ��?� &=2�� ���� ��
���� ���2�
A� <	�������2
(�
I	#�	��?/
�
I	���2)

1 #	$ 8
(0%)

38.69+0.1
9

12.51+0.32 10.97+0.1
2

5.38+0.11 4.22+0.14 4522+1.43

   2 (10%)2 38.70+0.2
1

12.91+0.10 10.36+0.0
5

5.73+0.14 4.28+0.11 4551+1.69

3 (20%) 37.73+0.4
7

13.47+0.35 9.97+0.05 6.48+0.01 5.96+0.03 4476+1.12

4 (30%) 37.87+0.9
8

12.92+1.18 9.49+0.04 6.57+0.22 5.04+0.06 4486+8.78

5 (40%) 37.74+0.4
0

15.10+0.37 9.05+0.05 6.16+0.11 4.51+0.03 4666+1.73

6 (50%) 36.73+0.4
6

14.67+0.29 8.97+0.05 6.47+0.01 4.08+0.09 4650+2.30

7 (60%) 37.84+0.2
4

16.00+0.79 8.70+0.01 5.55+0.11 3.86+0.28 4767+1.04

9 (10%)3 38.84+0.4
0

12.11+0.80 10.57+0.0
7

5.38+0.03 3.78+0.12 4557+1.75

10 (20%) 39.36+0.0
9

12.33+0.46 10.27+0.0
9

6.21+0.12 3.95+0.10 4533+2.29

11 (30%) 39.33+0.0
4

12.27+0.12 10.07+0.0
2

6.17+0.00 3.70+0.11 4547+0.34

12 (40%) 38.47+0.7
4

11.83+0.27 9.95+0.01 6.81+0.06 3.96+0.02 4488+1.20



13 (50%) 39.64+0.2
1

11.62+0.20
9.49+0.06

7.18+0.21 4.10+0.03 4487+1.06

14 (60%) 38.98+0.1
0

11.88+0.12
9.20+0.05

7.16+0.04 4.85+0.16 4468+0.41

     1 ����	=�?��%��6��� B�����@	?�� + ����"?����"�2���4�� (N = 3)
 2�����69���?� 2x7 2?I ��?�:��������	
����2�?� 100 ��7��J	�J?�6 � B���	� 30 ���? #	$�"#��� 
��#��I ��?�:�� 	� '��?��$��"  10, 20, 30, 40, 50 #	$ 60 � ����JK�����2	%���"

  3�����69���?� 9x14 2?I ��?�:�����������	
��6����A%�2����#��I ��?�:�� 	� '��?��$��" 10, 
20, 30, 40,  50 #	$ 60 � ����JK�����2	%���"

3.2.2  ����k��\�
�"i

����k��\�
�"i
Y
� �������	
�

  	�����	
��=����@	?�� 3.45 ���2 �	��&����"������?�2?I ��?�:���	
�
�����������	
����A� 2 ��
� &��#�� �2	K�������	
���?����������2�?��5���92
 100 ��7��J	�J?�6 � B���	� 
30 ���? #	$���������	
��6����A%�2�� ��#��I ��?�:�� 	� '���69��������?��$��" 0, 10, 20, 
30, 40, 50 #	$60 � ����JK��� � B���	� 8 6� ���� <"��� �	5�2 	��?�&����"������?�2?������	
����2
#���?�I ��?�:�� 	� '��?��$��" 10 � ����JK��� 2?����:�
>��
"I�69��?�65� �@	?��������" 31.30+1.84
���2 ���	�2�&��#���5���"�52 JC��2?�A%�����65�����������" 29.70+1.59 ���2 ��=�$�?��	5�2 	��?�&��
��"������?�I ��?�:��������	
����2#���?�I ��?�:�� 	� '��?��$��" 30 � ����JK��� 2?����:�
>��
"
I�69�� B������" 3 I��2?�A%�����65������@	?��������" 28.56+2.89 ���2 6����	5�2 	��?�&����"������?�
I ��?�:�����������	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��" 60 � ����JK��� � B��5����
��	���?�2?����:�
>��
"I������?�65� I��2?����@	?��������" 16.42+2.38 ���2 ���#6������<�?� 8
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��<�?� 8  ����:�
>��
"I�=�� 	�����	
���?�&����"������?�2?�	
������������	
��#���?�I ��?�
:�� 	� '��?��$��"���� � �5� 2 6� ���� � B���	� 8 6� ����

 �V%������U��S��LYXV�
�A%���������?��<
�2=CA�=�� 	�����	
���	��&����"�������	���?�2?�	
�

�����������	
�� 2 ��
� ��#��I ��?�:�� 	� '��?��$��"���� � � B���	� 8 6� ���� ���#6������
����?� 14 <"�����
��	
������������	
�� #	$�$��"=�������#��I ��?�:�� 	� '���69��
�����&2�2?�
�8
<	���2��� (no interaction) ����A%���������?��<
�2=CA� (P>0.05) #���	
������������	
�� 
2 ��
��?��%�2�������������	������	�A%���������?��<
�2=CA�=�� 	�#��������� (P<0.05) �
� �	5�2
=�� 	��?�&����"�������	���?�2?I ��?�:��������	
����2#���?�I ��?�:�� 	� '�2?�A%���������?�
�<
�2=CA�69����� 	����	5�2�?�&����"������?�2?���������	
��6����A%�2��#���?� 	� '� I���A%��������
�?��<
�2=CA�2?����@	?��������" 21.83+2.82 #	$ 18.49+2.70 ���2��������2	%���"       (��<�?� 9) ���:��
�?A���<"����	5�2�?�&����"������?�2?������	
����2 #	$���������	
��6����A%�2��#���?�I ��?�:�� 	�
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 '��?��$��" 10 � ����JK��� (������?� 15) 2?�A%���������<
�2=CA���	���?����"�5���"�52�?���� 	� '�� B�
#�	��I ��?�#���<?���������?�� (P>0.05) I��2?�A%���������?��<
�2=CA��@	?�� ������" 25.04+4.28 ���2
������ =�$�?��5���"�522?�A%���������<
�2=CA��@	?��������" 26.15+1.71 ���2������6%����"�5����
��	���?�&����"������?�2?������	
����2 #	$���������	
��6����A%�2��#���?�I ��?�:�� 	� '��?�
�$��" 20 , 30, 40 #	$ 50 � ����JK��� 2?�A%���������<
�2=CA���	���?����� (P>0.05) I��2?�A%��������
�<
�2=CA��@	?��������" 20.00+2.17, 20.96+2.72, 18.09+2.80, 18.55+3.20 ���2��������2	%���" =�$�?�
�5������	���?�2?������	
����2 #	$���������	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��" 60 
� ����JK��� 2?�A%�����65������@	?����%��?�65� I��2?�A%���������<
�2=CA��@	?��������" 14.3+1.80 ���2������ 
#	$2?���2#���������6�
�
��"�5��5������	�� (P<0.05)  �������5������	���?�2?������ I ��?�
:��������	
����2 #	$���������	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��" 40 � ����JK���


�
������k��\�
�"i
k%��S�$
���������:�
>��
"I�:%��<�$=�� 	��?�&����"�����69������ � ���#6����

������?� 14 <"�����
� #	$�$��"=�����#���?�I ��?�:�� 	� '������	
������������	
����69��
�����&2�2?�
�8
<	���2���������������:�
>��
"I�:%��<�$ (P>0.05) #���	
������������	
�� 2 ��
�
�?��%�2�������������	��2?�	������������:�
>��
"I�:%��<�$=�� 	�������� (P<0.05) JC���	�?�
&��6���	�����"�A%���������?��<
�2=CA� �
� �	5�2 	��?�&����"�������	���?�2?I ��?�:��������	
����2
#���?�I ��?�:�� 	� '�2?���������:�
>��
"I�:%��<�$69����� 	����	5�2�?�&����"������?�2?���
������	
��6����A%�2��#���?� 	� '� I�����������:�
>��
"I�:%��<�$ 2?����@	?��������" 3.53+0.21
#	$ 3.25+0.24 � ����JK��������� ��2	%���" (��<�?� 9) ���:���?A���<"��� �	5�2 	��?�&����"������?�
2?������	
����2 #	$���������	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��" 10 � ����JK��� 2?
���������:�
>��
"I�:%��<�$��	���?����"�5���"�52 (P>0.05) I��2?����@	?��������" 3.78+0.29 #	$ 
3.81+0.21 � ����JK��������� ��2	%���"  6%����"�5������	���?�&����"������?�2?������	
����2#	$
���������	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��" 20 , 30, 40 #	$ 50 � ����JK��� 2?�����
����:�
>��
"I�:%��<�$��	���?����� (P>0.05) I��2?����@	?��������" 3.39+0.20, 3.44+0.23, 
3.24+0.24 #	$ 3.28+0.28  � ����JK�����������2	%���" 6����5������	���?�2?������	
����2 #	$���
������	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��" 60 � ����JK��� 2?���������:�
>��
"I�:%��<�$
�@	?����%��?�65�I��2?����@	?��������"������" 2.94+0.18 � ����JK��������� #	$2?���2#���������6�
�
 
(P<0.05) ��"�5��5������	��#	$���5��$��"���#���?� �������5������	�����	5�2�?�2?������ 
I ��?�:��������	
����2#	$���������	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��" 40 
� ����JK��� (������?� 15)



 ����
�
��
<"�����������������=�� 	����5��5������	����9������� 91.66x100 

� ����JK��� I����
� #	$�$��"=���	
������������	
���?������#��I ��?�:�� 	� '���69��
�����&2�2?�	�����������������=�� 	� (P>0.05) (������?� 15)

������?� 14 �A%������?��<
�2=CA�  ���������:�
>��
"I�:%��<�$ #	$���������=�� 	�����	
���?�
&����"�������	���?�2?I ��?�:��������	
����2 #	$���������	
��6����A%�2��#���?�
I ��?�:�� 	� '��?��$��"���� � � B���	� 8 6� ����1

�	
������������	
�� �$��"���
#���?�

(� ����JK���)

�A%������?��<
�2
=CA�

(���2������)4

��������
�:�
>��
"I�
:%��<�$

(� ����JK���������)
5

���������
(� ����JK���)6

������	
����22 0 26.15+2.41 3.81+0.21 100.00+0.00
10 27.97+1.79 4.00+0.08   97.22+4.80
20 19.90+3.47 3.38+0.26   88.88+9.62
30 25.07+2.96 3.74+0.22   94.44+4.80
40 21.60+4.47 3.55+0.34   94.44+4.80
50 17.86+3.38 3.21+0.26 100.00+0.00
60 15.73+1.30 3.10+0.14 100.00+0.00

���������	
�� 3 0 26.15+2.41 3.81+0.21 100.00+0.00
10    22.12+6.75 3.55+0.50   86.11+17.34
20 20.10+0.87 3.41+0.13 100.00+0.00
30 16.85+2.47 3.15+0.24 100.00+0.00
40 14.59+1.13 2.93+0.13   97.22+4.80
50 19.23+3.03 3.34+0.29   83.33+28.86
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60 12.98+2.29 2.78+0.22   91.60+0.00
�	����
����$�����6�
�
 (Pr>F)
�	
������������	
�� ** ** ns
�$��"���#���?� ** ** ns
�	
������������	
�� x �$��"���#���?� ns ns ns

 1 ����	=�?��%��6��� B�����@	?��±����"?����"�2���4�� (N = 3)
 2  ������	
����2�?��5���92
 100 ��7��J	�J?�6 � B���	� 30 ���? #	$�"#���

 3 ���������	
��6����A%�2��
 4  �A%���������?��<
�2=CA� = �A%����� 	�65����� (���2/���) x �A%����� 	���
�2��� (���2/���)
 5 ���������:�
>��
"I�:%��<�$ = (ln w2 - ln w1) x 100 / t2- t1
 6 ��������� = :%���� 	��?���	
� x 100 / :%���� 	���
�2���
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��<�?� 9  �A%���������?��<
�2=CA��@	?�� #	$���������:�
>��
"I�:%��<�$�@	?��=�� 	�����	
���?�&����"
������?�2?���#���?�I ��?�:�� 	� '�����������	
����2 #	$���������	
��6����A%�2��
� B���	� 8 6� ����

  
21.83

a

18.49
b

3.53
a

3.25
b
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  ����@	?���?�2?������3���2
������%���"&2�2?���2#���������6�
�
�?��$��"���2��
��2��� 95    
� ����JK��� (P>0.05)

������?� 15 ���#���?�I ��?�:�� 	� '������	
������������	
���?��$��"���� � ����A%������?��<
�2
=CA�  ���������:�
>��
"I�:%��<�$ #	$���������=�� 	�����	
���?��	?A��� B���	� 8 
6� ����1

�$��"���#���?�
(� ����JK���)

�A%������?��<
�2=CA�
(���2������)

���������:�
>��
"I�
:%��<�$

(� ����JK���������)

��������� 2

(� ����JK���)

0 26.15+2.41 a 3.81+0.16 a 100.00+0.00
10 25.04+4.27 a 3.78+0.29 a    91.66 +11.08
20 20.00+2.17 b 3.39+0.20 b   94.44+2.40
30 20.96+2.72 b 3.44+0.23 b   97.22+2.40
40 18.09+2.80 b c 3.24+0.24 bc   95.83+4.81
50 18.55+3.20 b 3.28+0.28 b     91.66+14.43
60 14.35+1.80 c 2.94+0.18 c   95.83+0.00

         1 ����@	?��+����"?����"�2���4�� (N = 6) ����@	?����6�2����?������?�2?������3���2
������%���"&2�2?
���2 #���������6�
�
�?��$��"���2��
��2��� 95 � ����JK��� (P>0.05)

 2  ��������������&2�2?���2#���������6�
�
 (P>0.05)
3.2.3 �V%�����
�����U� �����  �$P��T���S������
����  �$P��T���S������i �
U� #�$i �
U��U�

�%�& ��� �$i����
�V%�����
�����U� �����

   �A%�����������?��
�=�� 	��?�&����"�����69������ � ���#6���������
�?� 16 <"�����
� #	$�$��"=���	
������������	
��2������#��I ��?�:�� 	� '���69�������
&2�2?�
�8
<	���2��� (no interaction) ����A%�����������?� 	��
� (P>0.05) #���	
������������	
��  2 
��
� �?��%�2�������������	������	�A%�����������?� 	��
�#��������� (P<0.05)              �
� ��
�	5�2=�� 	��?�&����"�������	���?�2?I ��?�:��������	
����2#���?�I ��?�:�� 	� '�2?����A%�
����������?� 	��
�69����� 	����	5�2�?�������������	
��6����A%�2��#���?�I ��?�:�� 	� '�I��
�A%�����������?� 	��
�=�� 	���A� 2 �	5�2 2?����@	?��������" 25.68+2.88 #	$ 21.01+2.83 ���2������ 
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(��<�?� 10) ���:���?A <"��� �5���"�52 #	$�5������	���?�2?������ I ��?�:��������	
����2 #	$
���������	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��" 10 � ����JK��� 2?�A%�����������?� 	��
�
��	���?����� I��2?�A%�����������?� 	��
��@	?��������" 32.79+3.85 #	$ 28.89+4.47 ���2��������2
	%���" #	$&2�2?���2#������������6�
�
�?��$��" (P>0.05) 6%����"�5������	���?�2?������I ��?�
:��������	
����2 #	$���������	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��" 20 , 30, 40 #	$ 50 
� ����JK��� <"����A%�����������?� 	��
��@	?��������" 23.66+2.75, 23.62+2.17, 21.11+3.03 #	$ 
21.42+2.82 ���2��������2	%���" #	$&2�2?���2#���������6�
�
�?� (P>0.05) 6����5������	���?�2?
������I ��?�:��������	
����2#	$���������	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��" 60 
� ����JK��� 2? �
2��������?��
������?�65��@	?��������" 16.66+1.63 ���2������ #	$2?���2#������
���6�
�
�?��$��" (P<0.05) ��"�5��5������	�� #	$���5��$��"���#���?� (������?� 17)

 �$P��T���S������
����
6%����" �$6
�8
��<�����������=�� 	�����	
���	��&����"�����

��	��69������ � ���#6����������?� 16 <"�����
� #	$�$��"=������%��	
������������	
��2�
�����#��I ��?�:�� 	� '���69�������&2�2?�
�8
<	���2��� (no interaction) ��� �$6
�8
��<
����������� (P>0.05) #���	
������������	
�� 2 ��
� �?��%�2�������������	��2?�	��� �$6
�8

��<�����������=�� 	� (P<0.05) �
�  	��?�&����"������?�2?I ��?�:��������	
����2#���?�
I ��?�:�� 	� '�2? �$6
�8
��<�����������69����� 	����	5�2�?�������������	
��6����A%�2��
#���?�I ��?�:�� 	� '� I�� �$6
�8
��<�����������=�� 	���A� 2 �	5�22?����@	?��������" 
0.87+0.02 #	$ 0.83+0.04 ��2	%���" (��<�?� 11) 6%����" 	��?�&����"������?�2?������	
����2 #	$
���������	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��"���� � <"���2? �$6
�8
��<�����������
��	���?����� (P>0.05) =�$�?� 	��?�&����"�����69����"�52 2? �$6
�8
��<�������������%��?�65�
������" 0.79+0.02 (������?� 17)

 �$P��T���S������i �
U�
�2
��<
:�����C� �$6
�8
��<������I ��?�=�� 	��	��&����"�����

��	��69������ � ���#6����������?� 16 <"���2?���26���	�����" �$6
�8
��<����������� �
�
��
� #	$�$��"=������%��	
������������	
��2������#��I ��?�:�� 	� '���69�������&2�2?
�
�8
<	���2��� (no interaction) ��� �$6
�8
��<������I ��?�=�� 	� (P>0.05) #���	
����������
��	
�� 2 ��
� �?��%�2�������������	��2?�	��� �$6
�8
��<������I ��?�=�� 	� (P<0.05) �
� 
 	��?�&����"������?�2?I ��?�:��������	
����2#���?�I ��?�:�� 	� '�2? �$6
�8
��<������
I ��?�69����� 	����	5�2�?�������������	
��6����A%�2��#���?�I ��?�:�� 	� '� I�� �$6
�8


60



��<������I ��?�=�� 	���A� 2 �	5�22?����@	?��������" 2.31+0.07 #	$ 2.13+0.11 ��2	%���"      
(��<�?� 11)  	��?�&����"������?�2?������	
����2 #	$���������	
��6����A%�2��#���?�I ��?�:�� 	�
 '��?��$��"���� � <"���2? �$6
�8
��<������I ��?���	���?����� (P>0.05) =�$�?� 	��?�&����"
�����69����"�522?��� �$6
�8
��<������I ��?���%��?�65� ������" 2.06+0.05 (������?� 17)

i �
U��U��%�& ��� �$i����
I ��?��?��%�& ��� �$I����=�� 	��	��&����"�������	��69������ � ���

#6����������?� 16 <"�����
� #	$�$��"=������%��	
������������	
��2������#��I ��?�:��
 	� '���69�������&2�2?�
�8
<	���2��� (no interaction) ���I ��?��?��%�& ��� �$I���� (P>
0.05) #���	
������������	
�� 2 ��
� �?��%�2�������������	��2?�	���I ��?��?��%�& ��� �$I����
=�� 	� (P<0.05) �
�  	��?�&����"������?�2?������	
����2#���?�I ��?�:�� 	� '�2?���I ��?��?��%�
& ��� �$I����69����� 	����	5�2�?�������������	
��6����A%�2��#���?�I ��?�:�� 	� '� I��
I ��?��?��%�& ��� �$I����=�� 	���A� 2 �	5�22?����@	?��������" 34.41+2.10 #	$ 31.12+2.16
� ����JK�����2	%���" (��<�?� 10) 6%����" 	��?�&����"������?�2?������	
����2#	$���������	
��6���
�A%�2��#���?�I ��?�:�� 	� '��?��$��" 30, 10, 40, 20 #	$ 50 � ����JK��� 2?���I ��?��?��%�& ���
 �$I������	���?������@	?��������" 34.89+2.63, 33.39+1.63, 33.00+1.36, 32.82+1.98 #	$
32.33+1.36 � ����JK�����2	%���" (P>0.05) =�$�?� 	��?�&����"������?�2?������	
����2 #	$�������
��	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��" 60 � ����JK��� #	$�5���"�52 2?���I ��?��?��%�
& ��� �$I�����@	?��������" 31.65+0.96 #	$ 30.52+4.18 � ����JK�����2	%���" #	$&2�2?���2#��
�������6�
�
�?��$��" (P>0.05) ��"�5��5������	�� (������?� 17)
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������?� 16 �A%�����������?� 	��
�   �$6
�8
��<�����������   �$6
�8
��<������I ��?� 
I ��?��?��%�& ��� �$I���� =�� 	�����	
���?�&����"�������	���?�2?I ��?�:��
������	
����2 #	$���������	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��"���� � � B�
��	� 8 6� ����1

1����	=�?��%��6��� B�����@	?��+����"?����"�2���4�� (N = 3)
2������	
����2�?��5���92
 100 ��7��J	�J?�6� B���	� 30 ���? #	$�"#���

�	
������
������	
��

�$��"���
#���?�

(� ����JK���)

�A%�����
�����
�?��
�

(���2������)

 �$6
�8
��<
�����������4

 �$6
�8

��<������
I ��?�5

I ��?��?��%�
& ���

 �$I����
(� ����JK���)6

������	
����22 0 32.79+3.14 0.79+0.02 2.06+0.05 30.52+4.18
10 31.35+1.71 0.89+0.01 2.30+0.02 35.82+0.86
20 23.64+3.38 0.84+0.04 2.22+0.11 33.72+1.39
30 27.78+2.33 0.90+0.06 2.38+0.16 37.34+4.51
40 24.13+4.82 0.89+0.01 2.37+0.03 34.51+1.25
50 20.76+3.23 0.85+0.03 2.33+0.08 33.47+2.11
60 16.99+1.55 0.92+0.03 2.46+0.07 34.17+0.40

���������	
��
3

0 32.79+3.14 0.79+0.02 2.06+0.05 30.52+4.18

10 23.43+7.24 0.83+0.03 2.14+0.07 30.95+2.40
20 23.68+2.12 0.85+0.04 2.16+0.10 31.93+2.57
30 19.46+2.00 0.86+0.04 2.19+0.10 32.45+0.74
40 18.10+1.23 0.80+0.05 2.09+0.12 31.49+1.47
50 22.07+2.41 0.87+0.06 2.19+0.16 31.19+2.26
60 16.33+1.71 0.79+0.07 2.02+0.18 29.13+1.50

�	����
����$�����6�
�
 (Pr>F)
�	
������������	
�� ** ** ** **

ns ns ns�$��"���#���?�                                           **
�	
������������	
�� x �$��"���#���?�          ns ns ns ns
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3���������	
��6����A%�2��
4 �$6
�8
��<�����������    =  �A%����� 	��?��<
�2=CA� (���2) / �A%�����������?� 	��
� (���2)
 5 �$6
�8
��<������I ��?�   =  �A%����� 	��?��<
�2=CA� (���2) /  �A%�����I ��?��?� 	��
� (���2)
 6I ��?��?��%�& ��� �$I����   =  I ��?�=����� 	��?��<
�2=CA� (���2)x 100 / �A%�����I ��?��?� 	�
�
��	�������	�� (���2)
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�����������
������������

��<�?� 10 �A%�����������?� 	��
��@	?�� #	$I ��?��?��%�& ��� �$I�����@	?��=�� 	�����	
���?�
&����"������?�2? ���#���?�I ��?�:�� 	� '�����������	
����2 #	$���������	
��6����A%�
2��� B���	� 8 6� ����
����x�U���U�LU
��
��M���L	
�����%���"&L�LU���L#
�
������P��
��U� (P>0.05)

0

0.25

0.5

0.75

1

5*D-$CO$P,G>,*MN<),9,* 5*D-$CO$P,G>,*MN<A5* B/

0

1

2

3

4��������
���

�����������
������������

25.68
a

34.41
a

21.01
b

31.12
b

0.83
b

2.13
b

0.87
a

2.31
a
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��<�?� 11  �$6
�8
��<����������� #	$ �$6
�8
��<������I ��?��@	?��=�� 	�����	
���?�&��

��"������?�2?���#���?�I ��?�:�� 	� '�����������	
����2 #	$���������	
��6����A%�2��
� B���	� 8 6� ����
����x�U���U�LU
��
��M���L	
�����%���"&L�LU���L#
�
������P��
��U� (P>0.05)

������?� 17 ���#���?�I ��?�:�� 	� '������	
������������	
���?��$��"���� � ����A%�����    
������?��
�   �$6
�8
��<�����������   �$6
�8
��<������I ��?� #	$I ��?��?��%�
& ��� �$I����=�� 	�����	
���?��	?A��� B���	� 8 6� ����1

1 ����@	?��+����"?����"�2���4�� (N = 6) ����@	?����6�2����?������?�2?������3���2
������%���"&2�2?
���2#���������6�
�
�?��$��"���2��
��2��� 95 � ����JK��� (P>0.05) 6%����" �$6
�8
��<������
�����  �$6
�8
��<������I ��?� #	$I ��?��?��%�& ��� �$I����&2�2?���2#���������6�
�

�$������$��"=�����#���?� (P>0.05)

3.2.4  
��� �$�
"�����LUY
� �������	
�
i �
U�
I ��?��� 	�����	
���	��&����"�������	��69������ � <"�����
� #	$�$��"

����%��	
������������	
��2������#��I ��?�:�� 	� '���69�������&2�2?�
�8
<	���2��� (P>

�$��"���#���?�
(� ����JK���)

�A%�����������?�
 	��
�

 (���2������)

 �$6
�8
��<���
��������

 �$6
�8
��<
������I ��?�

I ��?��?��%�& 
��� �$I����
 (� ����JK���)

0 32.79+3.85a 0.79+0.02 2.06+0.05    30.52+4.18
10 28.89+4.47a 0.86+0.02 2.22+0.05    33.39+1.63

20 23.66+2.75b 0.84+0.04 2.19+0.11    32.82+1.98
30 23.62+2.17b 0.88+0.05 2.28+0.13    34.89+2.63
40 21.11+3.03b  0.85+0.03 2.23+0.08    33.00+1.36
50 21.42+2.82b 0.86+0.04 2.26+0.12    32.33+1.36

60 16.66+1.63c 0.85+0.05 2.24+0.13    31.65+ 0.96
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0.05) ����$��"I ��?�����
A� 	� (������?� 18) ���:���?A �	
������������	
�� 2 ��
� �?��%�2������
�������	�� &2�2?�	����$��"I ��?�����
A� 	� (P>0.05) ������� I���$��"I ��?�����
A� �	5�2
 	��?�&����"�������	���?�2?������	
����2#���?�I ��?�:�� 	� '�2?���������" 14.88+0.88 

� ����JK��� =�$�?��	5�2 	��?�&����"�������	���?�2?���������	
��6����A%�2��#���?�I ��?�:�� 	�
 '�2?I ��?�����
A��@	?��������" 14.78+0.71 � ����JK���

&YL��
&=2���� 	�����	
���	��&����"�������	��69������ � <"�����
� #	$�$��"

����%��	
������������	
��2������#��I ��?�:�� 	� '���69�������2?�
�8
<	���2��� (P
<0.05) ����$��"&=2������
A� 	� (������?� 18)  #	$�	
������������	
�� 2 ��
� �?��%�2������
�������	��2?�	����$��"&=2������
A� 	� (P<0.05) I���$��"&=2������
A� 	� �	5�2 	��?�&��
��"�������	���?�2?������	
����2#���?�I ��?�:�� 	� '�2?�$��"&=2��69����� 	����	5�2�?�&����"
�������	���?�2?���������	
��6����A%�2��#���?�I ��?�:�� 	� '� I��&=2������
A� 	���A�        2 
�	5�2 2?����@	?��������" 11.05+0.41 #	$ 9.78+0.74 � ����JK��� #	$<"��� �	5�2 	��?�&����"������?�2?
���������	
��6����A%�2���?��$��"���#���?� 50 #	$ 60 � ����JK��� 2? �
2��&=2���������%��?�65���	�
��?����� (P>0.05) ������" 7.80+0.38 #	$ 7.83+0.21 � ����JK��� #��&2�#������ (P>0.05) ��"�	5�2
 	��?�&����"������?�2?������	
����2�?��$��"���#���?� 50 #	$ 60 � ����JK��� #	$���������	
��6���
�A%�2���?��$��"���#���?� 30 #	$ 40 � ����JK��� JC��2? �
2��&=2��������" 9.52+0.58, 10.15, 
9.16+0.61 #	$ 9.46+0.85 � ����JK�����2	%���" ��=�$�?��	5�2 	��?�&����"�����69����"�522?
 �
2��&=2�������69��?�65� #��&2�2?���2#������ (P>0.05) ��"�	5�2 	��?�&����"������?�2?������	
��
��2�?��$��"���#���?� 10, 20, 30, 40 � ����JK��� #	$���������	
��6����A%�2���?��$��"���#���?� 10, 
20 � ����JK��� I��2? �
2��&=2��������" 12.78+0.21, 12.17+0.56, 10.68+0.35, 11.10+0.40, 
11.59+0.50, 11.90+1.98 #	$ 10.55+0.96 � ����JK�����2	%���"

����
 �
2����������� 	��	��&����"�������	��69������ � <"�����
� #	$�$��"

����%��	
������������	
��2������#��I ��?�:�� 	� '���69�������2?�
�8
<	���2��� ���
 �
2����������
A� 	� (P<0.05) (������?� 18)  #	$�	
������������	
�� 2 ��
� �?��%�2�����������
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��	��2?�	��� �
2����������
A� 	�������� (P<0.05) I�� �
2������ �	5�2 	��?�
&����"������?�2?���������	
��6����A%�2��#���?�I ��?�:�� 	� '�2?���69������	5�2 	��?�&����"
������?�2?������	
����2#���?�I ��?�:�� 	� '�  �
2����������
A� 	���A� 2 �	5�22?����@	?��������" 

3.44+0.13 #	$ 3.17+0.83 � ����JK��� ���:���?A �	5�2 	��?�&����"�������	���?�2?������	
����2
#���?�I ��?�:�� 	� '��?��$��" 50 � ����JK��� 2? �
2��������%��?�65�������" 2.97+0.23 � ����JK���
#��&2�2?���2#���������6�
�
 (P>0.05) ��"�5��5������	��

���L�	V�
�$��"���2�
A�=�� 	�����	
���	��&����"�������	��69������ � <"�����
�

#	$�$��"=������%��	
������������	
��2������#��I ��?�:�� 	� '���69�������&2�2?�
�8

<	���2�������$��"���2�
A�����
A� 	� (P>0.05) (������?� 18) #���	
������������	
�� 2 ��
� �?��%�
2�������������	��2?�	����$��"���2�
A�����
A� 	� (P<0.05) I���$��"���2�
A��	5�2 	��?�&��
��"������?�2?���������	
��6����A%�2��#���?�I ��?�:�� 	� '� 2?���69������	5�2 	��?�&����"�����
��	���?�2?������	
����2#���?�I ��?�:�� 	� '�  �$��"���2�
A�=�� 	���A� 2 �	5�22?����@	?������
��" 71.10+0.61 #	$ 69.71+0.14 � ����JK�����2	%���" #	$�5��5������	��2?������2�
A���9�
�$����� 68.19+0.01 �C� 73.25+0.31 � ����JK���
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������?� 18  ���� �$��"�����2?=����
A� 	�����	
���	��&����"�������	���?�2?������I ��?�
:��������	
����2 #	$���������	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��"
���� � � B���	� 8 6� ����1 (� ����JK����A%�����6�)

���� �$��"�����2? (� ����JK����A%�����6�)     �	
������
     ������	
�� �$��"���#���?� I ��?� &=2�� ���� ���2�
A�
 	�������	�� 14.11+0.34   4.24+0.14    3.22+0.29 78.40+0.24
������	
����22 0 14.84+1.48a 12.78+ 0.21a 3.46+0.16a 68.19+ 0.02c

10 15.72+0.35a 12.17+0.56ab 3.34+0.07a 68.88+0.75c

20 15.07+1.21a 10.68+0.35abcd 3.22+0.04a 69.97+0.68b

30 15.54+0.86a 11.10+0.40abcd 3.27+0.18a 68.80+0.60ab

40 14.69+0.77a 11.59+0.50abc 3.11+0.13a 69.91+0.92ab

50 14.40+0.86a   9.52+0.58cde 2.97+0.23a 70.91+0.28a

60 14.17+0.54a 10.15+0.29bcde 2.99+0.11a 70.37+0.79a

���������	
��3 0 14.84+1.48a 12.78+1.48a 3.46+0.16a 68.19+0.02c

10 14.43+0.74a 11.90+1.98 ab 3.22+0.24a 68.95+2.22c

20 14.78+0.79a 10.55+0.96abcd 3.16+0.13a 70.58+0.74b

30 14.95+0.44a   9.16+0.61de 3.63+0.35a 71.83+0.85ab

40 15.09+0.18a   9.46+0.85cde 3.69+0.23a 71.31+0.31ab

50 14.94+0.60a   7.80+0.38e 3.47+0.31a 73.69+1.09a

60 14.53+0.74a   7.83+0.21e 3.44+0.27a 73.26+0.32a

�	����
����$�����6�
�
 (Pr>F)
�	
������������	
�� ns ** ** **
�$��"���#���?� ns ** ns **
�	
������������	
�� x �$��"���
#���?�

ns ** ** ns

 1 ����	=�?��%��6��� B�����@	?��+����"?����"�2���4�� (N = 3) ����@	?����6�2����?������?�2?������3�
��2
������%���"&2�2?���2#���������6�
�
�?��$��"���2��
��2��� 95 � ����JK��� (P>0.05)

 2 ������	
����2�?��5���92
 100 ��7��J	�J?�6 � B���	� 30 ���? #	$�"#���
  3 ���������	
��6����A%�2��
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3.2.5  �$P��T���S�����
�i �
U�Y
� �������	
�
 �$6
�8
��<�������I ��?�=�� 	�����	
���?�&����"�������	��69������ � 

�����������?� 19 <"�����
�=���	
������ #	$�$��"���#���?�I ��?�:�� 	� '���69�������
&2�2?�
�8
<	���2��� (no interaction) ��� �$6
�8
��<�������I ��?� (P>0.05) #���	
����������
��	
�� 2 ��
� �?��%�2�������������	��2?�	��� �$6
�8
��<�������I ��?� (P<0.05) �
�  	��?�
&����"������?�2?������	
����2#���?�I ��?�:�� 	� '� 2? �$6
�8
��<�������I ��?�69������	5�2
 	��?�&����"������?�2?���������	
��6����A%�2��#���?�I ��?�:�� 	� '������2?���6%���> I��2? �$
6
�8
��<�������I ��?��@	?��������" 87.83+1.07 #	$ 83.35+3.83  � ����JK�����2	%���" 6%����"
�	5�2 	��?�&����"�����69����"�52 #	$������?�2?������	
����2 #	$���������	
��6����A%�2��#���?�
I ��?�:�� 	� '��?��$��" 10 #	$ 20 � ����JK��� 2?�$��"�������I ��?�69���	���?����� (P>0.05)
I��2?����@	?��������" 89.77+0.52, 88.17+0.64 #	$ 88.46+0.64 � ����JK�����2	%���" 6%����"�	5�2
 	��?�&����"�������	���?�2?������	
����2 #	$���������	
��6����A%�2��#���?�I ��?�:�� 	� '��?�
�$��" 30, 40 #	$ 50 � ����JK��� 2? �$6
�8
��<�������I ��?���	���?��������	�2� =�$�?��	5�2
 	��?�&����"�������	���?�2?������	
����2 #	$���������	
��6����A%�2��#���?�I ��?�:�� 	� '��?�
�$��" 60 � ����JK��� 2? �$6
�8
��<�������I ��?���%��?�65�������" 77.58 � ����JK��� #	$2?���2
#���������6�
�
�?��$��" (P<0.05) ��"�5��5������	�� �������	5�2 	��?�&����"�������	���?�2?
������	
����2 #	$���������	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��" 40 � ����JK��� (�����
�?� 20)
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������?� 19  �$6
�8
��<�������I ��?�=�� 	�����	
���?�&����"�������	���?�2?������������	
��
��2 #	$���������	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��"����� � B���	� 8 
6� ����1

  �	
������������	
�� �$��"���#���?� (%)2  �$6
�8
��<�������
I ��?� (� ����JK���)

����@	?��

������	
����23 0 89.77+0.52
10 89.57+0.52
20 88.35+0.97
30 88.43+0.25     87.83+1.07a

40 86.79+0.99
50 88.00+2.45
60 84.55+1.76

���������	
��6����A%�
2��

0 89.77+0.52

10 86.77+3.05
20 88.58+0.30
30 86.23+1.78 83.35+3.83b

40   78.28+11.60
50 85.36+1.24
60 70.60+8.31

**
**

�	����
����$�����6�
�
 (Pr>F)
�	
������������	
��
�$��"���#���?�
�	
������������	
�� x�$��"���#���?� ns

        1����	=�?��%��6��� B�����@	?��±����"?����"�2���4�� (N = 3)
     2 �$��"���#���?�I ��?�:�� 	� '�����I ��?�:��������	
����2 #	$���������	
��6����A%�2��
       3 ������	
����2�?��5���92
 100 ��7��J	�J?�6 � B���	� 30 ���? #	$�"#����?��5���92
 60 ��7�

�J	�J?�6
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������?� 20  �$6
�8
��<�������I ��?�=�� 	�����	
���	��&����"�������	���?�2?�������	
�
�����������	
�� 2 ��
� #���?�I ��?�:�� 	� '��?��$��"����� � B���	� 8 6� ����1  
�$��"���#���?� (%)2  �$6
�8
��<�������I ��?� (%)

0 89.77a

10 88.17a

20 88.46a

30 87.33ab

40 82.54 bc

50 86.68 ab

60 77.58 c
              1 ����	=�?��%��6��� B�����@	?��±����"?����"�2���4�� (N = 6)
       ����@	?����6�2���?�2?������3���2
������%���" &2�2?���2#���������6�
�
�?� (P>0.05)

              2 �$��"���#���?�I ��?�:�� 	� '�����I ��?�:��������	
����2#	$���������	
��6����A%�2��

3.2.6 ����
����#�$
���O�������

:������%���������������6���=������5�
"�?��%�2�����	
��������	��#��	$69�� <"

��� 69����"�522?���������69��?�65�������" 28.58 "����� 1 �
I	���2 6%����"�����69���
�� � 2?
���������	�	���26��6�������<
�2�$��"������������	
����2 #	$���������	
��6����A%�2��#���?�
I ��?�:�� 	� '���69������� I��69��������?����������	
����2#���?�I ��?�:�� 	� '� 2?
�����$����� 24.93 - 27.96 "����� 1 �
I	���2 6���69��������?�������������	
��6����A%�2��#���?�
I ��?�:�� 	� '�2?�����$����� 22.11 - 27.52 "����� 1 �
I	���2 (������?� 21) #	$:�����
�
����$������5���������69������ � �������	
� 	�����	
�� 1 �
I	���2 <"���  	��?�&����"�����
69����"�522?����5�����	
� 	���������69��?�65� ������" 35.92+0.63 "������	�	
� 	� 1 
�
I	���2 6%����"69���?�2?���#���?��?� 10 � ����JK��� JC�� 	�2?����:�
>��
"I�&2�#������:��69��
��"�52 <"���69���?����������	
����22?����5�����	
� 	���������������" 31.15+0.75 "������	
�	
� 	� 1 �
I	���2 ��=�$�?�69���?�������������	
��6����A%�2��2?����5�����	
� 	�������������
��" 33.22+1.47 "������	�	
� 	� 1 �
I	���2 #	$�2
��2?����<
�2�$��"���#���?�������	
����2#	$
���������	
��6����A%�2����69���������A�#���$��" 20 � ����JK���=CA�&  <"�������5�����	
�����	
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�	
� 	� 1 �
I	���2 	�	�� B�	%���" #�� 	�2?����:�
>��
"I��������69����"�52#	$69��������?�
���������	
����2 #	$���������	
��6����A%�2��#���?��?� 10 � ����JK��� (������?� 21)

������?� 21 ������������ #	$����5���������������������	
� 	�����	
���?�&����"�������	��
�?�2?������������	
����2 #	$���������	
��6����A%�2��#���?�I ��?�:�� 	� '��?��$��"
����� � B���	� 8 6� ����

  �	
������������	
�� �$��"���#���?�
(%)

���������1

("������
I	���2
�����)

����5�������������	�	
� 	�2

("������
I	���2)

������	
����2 0 28.58 35.92+0.63
10 27.96 31.15+0.75
20 27.35 31.03+0.23
30 26.73 29.01+2.13
40 26.23 29.26+1.30
50 25.50 29.56+1.11
60 24.93 26.78+0.16

���������	
��6����A%�
2��

0 28.58 35.92+0.52

10 27.52 33.22+1.47
20 26.36 30.71+0.10
30 25.34 30.29+1.14
40 24.36  27.01+2.35
50 23.20 29.35+7.80
60 22.11 28.88+3.20

         1�
��@<�$�������5�
"����� I��&2���2��� I��2
����&J�� #	$ BHT ("������
I	���2�����)
        2����5�����	
��������� = �A%�����������?��
� (�
I	���2) X ��������� ("��) / �A%����� 	��?��<
�2

=CA� 1 �
I	���2

3.2.7 �O���S�V%�
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�	����
����$���5���<�A%��@	?���	�������	�� (������������ =) <"����5���92
2?���
��9��$����� 27.60 x 27.80 ��7��J	�J?�6  ���2� B�������� 6.89 x 7.15  ������J
�:��?�	$	���A%� 
5.00 x 5.45 2
		
���2���	
�� ���&�&���� 0.03 x 0.08  2
		
���2���	
��  ���&����� 1.02 x 1.50 
2
		
���2���	
�� #	$���#�2I2��?���2��9��$����� 0.06 x 0.12 2
		
���2���	
�� JC��2?�����9��������?�
 	�����	
��6�2����%����?�
�&������� ��



